

FRANCONIA 43105 X-A005(042)

PROJECT: FRANCONIA

STATE PROJECT NUMBER: 43105

FED. PROJECT NUMBER: X-A005(042)

DATE BIDS OPEN:

September 02, 2021,

SCOPE OF WORK:

Painting bridges (4 carrying and 1 over) I-93 bridges in Franconia.

COMPLETION DATE:

December 16, 2022

LOCATION:

Grafton, District 1

Awarded To: MONOKO LLC

760 BAYSHORE DRIVE

TARPON SPRINGS, FL 34689

Amount: Award Date: \$1,571,000.00

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
MONOKO LLC	\$1,571,000.00	А
760 BAYSHORE DRIVE, TARPON SPRINGS FL 34689		
MODERN PROTECTIVE COATINGS INC PO BOX 119, HUDSON NH 03051	\$1,822,100.00	В
PANTHER INDUSTRIAL PAINTING LLC 15790 SPRINGMILL DRIVE, MISHAWAKA IN 46545	\$1,920,559.00	С
ATLAS PAINTING & SHEETING CORP 465 CREEKSIDE DRIVE, AMHERST NY 14228	\$2,190,000.00	D
GEMSTONE PAINTING 1010 KENNEDY DRIVE SUITE 406, KEY WEST FL 33040-4019	\$2,254,400.00	E
LIBERTY MAINTENANCE, INC. 777 N MERIDIAN ROAD, YOUNGSTOWN OH 44509	\$2,320,530.00	F



FRANCONIA 43105 X-A005(042)

				F	PS&E	760 BAYS	DKO LLC HORE DRIVE RINGS, FL 34689	POI	CTIVE COATINGS INC BOX 119 I, NH 03051
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$317,250.00	\$317,250.00	\$337,977.00	\$337,977.00	\$398,000.00	\$398,000.00
556.02	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$131,200.00	\$131,200.00	\$162,996.00	\$162,996.00	\$190,000.00	\$190,000.00
556.03	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$117,900.00	\$117,900.00	\$162,996.00	\$162,996.00	\$180,000.00	\$180,000.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$341,000.00	\$341,000.00	\$397,700.00	\$397,700.00	\$435,000.00	\$435,000.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$245,000.00	\$245,000.00	\$294,831.00	\$294,831.00	\$320,000.00	\$320,000.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
556.902	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
556.903	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	150.00	\$25.00	\$3,750.00	\$20.00	\$3,000.00	\$30.00	\$4,500.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	300.00	\$50.00	\$15,000.00	\$20.00	\$6,000.00	\$75.00	\$22,500.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	1.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$5,200.00	\$5,200.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00
616.173	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	72,000.00	\$1.00	\$72,000.00	\$1.00	\$72,000.00	\$1.00	\$72,000.00
618.7	FLAGGERS	HR	300.00	\$30.00	\$9,000.00	\$10.00	\$3,000.00	\$20.00	\$6,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$5,000.00	\$5,000.00	\$40,000.00	\$40,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	7.00	\$2,000.00	\$14,000.00	\$100.00	\$700.00	\$750.00	\$5,250.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	3.00	\$3,000.00	\$9,000.00	\$300.00	\$900.00	\$900.00	\$2,700.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	3.00	\$3,000.00	\$9,000.00	\$300.00	\$900.00	\$1,100.00	\$3,300.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$2,500.00	\$5,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	1,600.00	\$2.50	\$4,000.00	\$2.00	\$3,200.00	\$2.00	\$3,200.00

New Hampshire Department of Transportation

ABC Bid Data

					PS&E		MONOKO LLC 760 BAYSHORE DRIVE TARPON SPRINGS, FL 34689		CTIVE COATINGS INC BOX 119 N, NH 03051
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	200.00	\$2.50	\$500.00	\$10.00	\$2,000.00	\$6.00	\$1,200.00
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	400.00	\$2.50	\$1,000.00	\$2.00	\$800.00	\$5.00	\$2,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	5.00	\$3,000.00	\$15,000.00	\$200.00	\$1,000.00	\$750.00	\$3,750.00
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00

Totals:	\$1,530,600.00	\$1,571,000.00	\$1,822,100.00
Alt. Totals:			
Totals:	\$1,530,600.00	\$1,571,000.00	\$1,822,100.00



FRANCONIA 43105 X-A005(042)

				ı	PS&E	15790 SPRI	TRIAL PAINTING LLC NGMILL DRIVE AKA, IN 46545	465 CREE	s & SHEETING CORP KSIDE DRIVE ST, NY 14228
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

619.27 619.279	TRAILER-MOUNTED SPEED LIMIT SIGN	U	3.00	\$3,000.00 \$3,000.00	\$9,000.00 \$9,000.00	\$660.00	\$1,980.00 \$2,475.00	\$1,000.00 \$1,000.00	\$3,000.00 \$3,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	7.00	\$2,000.00	\$14,000.00	\$660.00	\$4,620.00	\$1,000.00	\$7,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$10,000.00	\$10,000.00
618.7	FLAGGERS	HR	300.00	\$30.00	\$9,000.00	\$50.00	\$15,000.00	\$40.00	\$12,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	72,000.00	\$1.00	\$72,000.00	\$1.00	\$72,000.00	\$1.00	\$72,000.00
616.173	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$16,500.00	\$16,500.00	\$5,000.00	\$5,000.00
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$16,500.00	\$16,500.00	\$5,000.00	\$5,000.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$16,500.00	\$16,500.00	\$2,500.00	\$2,500.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	1.00	\$3,000.00	\$3,000.00	\$2,904.00	\$2,904.00	\$3,000.00	\$3,000.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	300.00	\$50.00	\$15,000.00	\$100.00	\$30,000.00	\$40.00	\$12,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	150.00	\$25.00	\$3,750.00	\$100.00	\$15,000.00	\$30.00	\$4,500.00
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
556.903	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
556.902	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$245,000.00	\$245,000.00	\$350,000.00	\$350,000.00	\$340,000.00	\$340,000.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$341,000.00	\$341,000.00	\$350,000.00	\$350,000.00	\$520,000.00	\$520,000.00
556.03	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$117,900.00	\$117,900.00	\$150,000.00	\$150,000.00	\$230,000.00	\$230,000.00
556.02	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$131,200.00	\$131,200.00	\$150,000.00	\$150,000.00	\$260,000.00	\$260,000.00
556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$317,250.00	\$317,250.00	\$350,000.00	\$350,000.00	\$450,000.00	\$450,000.00

New Hampshire Department of Transportation

ABC Bid Data

					PS&E		PANTHER INDUSTRIAL PAINTING LLC 15790 SPRINGMILL DRIVE MISHAWAKA, IN 46545		ATLAS PAINTING & SHEETING CORP 465 CREEKSIDE DRIVE AMHERST, NY 14228	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	200.00	\$2.50	\$500.00	\$20.00	\$4,000.00	\$5.00	\$1,000.00	
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	400.00	\$2.50	\$1,000.00	\$3.00	\$1,200.00	\$2.00	\$800.00	
670.104	TEMPORARY PORTABLE LIGHTING	U	5.00	\$3,000.00	\$15,000.00	\$1,000.00	\$5,000.00	\$800.00	\$4,000.00	
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$150,000.00	\$150,000.00	\$182,800.00	\$182,800.00	
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	

Totals:	\$1,530,600.00	\$1,920,559.00	\$2,190,000.00
Alt. Totals:			
Totals:	\$1,530,600.00	\$1,920,559.00	\$2,190,000.00



FRANCONIA 43105 X-A005(042)

				ı	PS&E	1010 KENNED	NE PAINTING Y DRIVE SUITE 406 FL 33040-4019	777 N MEI	NTENANCE, INC. RIDIAN ROAD IWN, OH 44509
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

							-		
556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$317,250.00	\$317,250.00	\$495,000.00	\$495,000.00	\$388,000.00	\$388,000.00
556.02	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$131,200.00	\$131,200.00	\$196,000.00	\$196,000.00	\$160,000.00	\$160,000.00
556.03	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$117,900.00	\$117,900.00	\$170,000.00	\$170,000.00	\$160,000.00	\$160,000.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$341,000.00	\$341,000.00	\$562,000.00	\$562,000.00	\$430,000.00	\$430,000.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$245,000.00	\$245,000.00	\$500,000.00	\$500,000.00	\$430,000.00	\$430,000.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$9,520.00	\$9,520.00
556.902	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$9,520.00	\$9,520.00
556.903	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$9,520.00	\$9,520.00
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$9,520.00	\$9,520.00
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$9,520.00	\$9,520.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	150.00	\$25.00	\$3,750.00	\$60.00	\$9,000.00	\$100.00	\$15,000.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	300.00	\$50.00	\$15,000.00	\$60.00	\$18,000.00	\$100.00	\$30,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	1.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$1,000.00	\$1,000.00	\$8,625.00	\$8,625.00
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$1,000.00	\$1,000.00	\$8,625.00	\$8,625.00
616.173	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$16,000.00	\$16,000.00	\$1,000.00	\$1,000.00	\$8,625.00	\$8,625.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	72,000.00	\$1.00	\$72,000.00	\$1.00	\$72,000.00	\$1.00	\$72,000.00
618.7	FLAGGERS	HR	300.00	\$30.00	\$9,000.00	\$20.00	\$6,000.00	\$98.00	\$29,400.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$200,000.00	\$200,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	7.00	\$2,000.00	\$14,000.00	\$3,000.00	\$21,000.00	\$3,000.00	\$21,000.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	3.00	\$3,000.00	\$9,000.00	\$3,000.00	\$9,000.00	\$1,380.00	\$4,140.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	3.00	\$3,000.00	\$9,000.00	\$3,000.00	\$9,000.00	\$1,725.00	\$5,175.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$2,500.00	\$5,000.00	\$9,000.00	\$18,000.00	\$5,520.00	\$11,040.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	1,600.00	\$2.50	\$4,000.00	\$4.00	\$6,400.00	\$4.00	\$6,400.00

New Hampshire Department of Transportation

ABC Bid Data

					PS&E		GEMSTONE PAINTING 1010 KENNEDY DRIVE SUITE 406 KEY WEST, FL 33040-4019		INTENANCE, INC. RIDIAN ROAD DWN, OH 44509
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	200.00	\$2.50	\$500.00	\$12.00	\$2,400.00	\$4.00	\$800.00
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	400.00	\$2.50	\$1,000.00	\$4.00	\$1,600.00	\$4.00	\$1,600.00
670.104	TEMPORARY PORTABLE LIGHTING	U	5.00	\$3,000.00	\$15,000.00	\$2,000.00	\$10,000.00	\$4,000.00	\$20,000.00
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$40,000.00	\$40,000.00	\$210,000.00	\$210,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00

Totals:	\$1,530,600.00	\$2,254,400.00	\$2,320,530.00
Alt. Totals:			
Totals:	\$1,530,600.00	\$2,254,400.00	\$2,320,530.00



PS&E Comparison

	Description	Unit	Quantity	A-Bidder		PS&E		
Item No.				Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
556.01	PAINTING EXISTING STRUCTURAL STEEL	lυ	1.00	\$337,977.00	\$337,977.00	\$317,250.00	\$317,250.00	\$20,727.00
556.02	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$162,996.00	\$162,996.00	\$131,200.00	\$131,200.00	\$31,796.00
556.03	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$162,996.00	\$162,996.00	\$117,900.00	\$117,900.00	\$45,096.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$397,700.00	\$397,700.00	\$341,000.00	\$341,000.00	\$56,700.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$294,831.00	\$294,831.00	\$245,000.00	\$245,000.00	\$49,831.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
556.902	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
556.903	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	150.00	\$20.00	\$3,000.00	\$25.00	\$3,750.00	(\$750.00)
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	300.00	\$20.00	\$6,000.00	\$50.00	\$15,000.00	(\$9,000.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	1.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	(\$1,000.00)
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$4,000.00	\$4,000.00	\$16,000.00	\$16,000.00	(\$12,000.00)

PS&E Comparison



Item No.	Description	Unit		A-Bidder		PS&E		
			Quantity	Unit Price	Total	Unit Price	Total	I A-PS&E Difference
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$4,000.00	\$4,000.00	\$16,000.00	\$16,000.00	(\$12,000.00)
616.173	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$4,000.00	\$4,000.00	\$16,000.00	\$16,000.00	(\$12,000.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	72,000.00	\$1.00	\$72,000.00	\$1.00	\$72,000.00	\$0.00
618.7	FLAGGERS	HR	300.00	\$10.00	\$3,000.00	\$30.00	\$9,000.00	(\$6,000.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00	(\$45,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	7.00	\$100.00	\$700.00	\$2,000.00	\$14,000.00	(\$13,300.00)
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	3.00	\$300.00	\$900.00	\$3,000.00	\$9,000.00	(\$8,100.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	3.00	\$300.00	\$900.00	\$3,000.00	\$9,000.00	(\$8,100.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$1,000.00	\$2,000.00	\$2,500.00	\$5,000.00	(\$3,000.00)
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	1,600.00	\$2.00	\$3,200.00	\$2.50	\$4,000.00	(\$800.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	200.00	\$10.00	\$2,000.00	\$2.50	\$500.00	\$1,500.00
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	400.00	\$2.00	\$800.00	\$2.50	\$1,000.00	(\$200.00)
670.104	TEMPORARY PORTABLE LIGHTING	U	5.00	\$200.00	\$1,000.00	\$3,000.00	\$15,000.00	(\$14,000.00)
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	(\$10,000.00)
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00

Total: \$1,571,000.00 \$1,530,600.00 \$40,400.00

Tuesday, September 7, 2021 Page 10 of 10